
Populationsentwicklung 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

550 

Kastrationen 

jährlich 

KasKqas 275 

weiblich 

275 

männlich 

1. Wurf im 1. Jahr  

275 * 4 =1100 Welpen 

550 

weiblich 

550 

männlich 

2. Wurf im 1. Jahr  

(550+275) * 4 =3300 Welpen 

1650 

weiblich 

1650 

männlich 

1. Wurf im 2. Jahr  

(1650+550) * 4 =8800 Welpen 

4400 

weiblich 

4400 

männlich 

2. Wurf im 2. Jahr  

(4400+1650) * 4 =24200 Welpen 
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12100 

weiblich 

12100 

männlich 

1. Wurf im 3. Jahr  

(12100+4400) * 4 =66000 Welpen 

33000 

weiblich 

33000 

männlich 

2. Wurf im 3. Jahr  

(33000+12100) * 4 = 

180.400 Welpen 


